1.

wnidllocates saving
investment in real assets or
a. Economic system
¢. Financial system

2. RBIstarted functioning on — — —
a. 1-4-1935 ;
c. 1-4-1882

3. Which of the following is not a reg institutions in Indian financial system?
a. RBI e -
<. SEBI ity

4. To operate as NBFC in India,
a. SEBI
¢. MoF

5. Money market deals with
a. long term
c. short term
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BOLT stands for-

a. Borrowing or Lending Trade b. Bombay Online Trading

¢. Bond or Loan Tran d. None of the above

In depository system..................... is a link between depository and the owner.

a. Depository participant b. Register and Transfer Agent

c. Issuer d. Custodian.

In financial circle, the name “Dalal Street” is used synonyms to.....................

a. BSE b. NASDAQ

c. NSE d. OTCEI

A Non Banking Financial Institution-

a. Can accept demand deposit b. Can issue cheques to customers
c. Cannot accept fixed deposit d. Cannot accept demand deposit and

cannot issue cheques

Which of the following is not a negotiable instrument?

a. ADR b. GDR

c. FDR d. IDR

The RBI’s increase in the cash reserve ratio (CRR) will result in:

a. Reduce the amount of money in b. Increase the economy’s money
circulation in the economy supply

¢. There will be no effect on the d. Initially, boost the supply, but
economy’s money supply gradually reduce it.

Which of these are not functions of the Reserve Bank of India?

a. Currency printing b. Credit Controller

c. Coin distribution d. Foreign currency custodian

What is the definition of a commercial bank?

a. An organization that is founded b. Alegal entity that represents a group
outside of the government in most of people
cases

¢. Only India has a certain type of d. A bank that accepts deposits also
company structure. provides account-checking services.

What is the process by which commercial banks create money?

a. Issue of Loans b. Accepting New Deposits

¢. Through Cash Reserve Ratio d. Through Investing

NBFC is a company registered under..........ccoo.....

a. The Indian Contract Act b. The Companies Act, 1956

¢. The RBI Act d. SEBI

Which of the following combinations is correct?

a. NABARD — — -Industrial Loan b. RBI— - — — — Long term Finance

¢ RRB————— Agriculture Finance d. IDBl— — — — — Short Term Loans.
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